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He was riding on top of an animal - 772 933 B 2071 7O

Overview
The &n>12 states that if a 21 was riding on an animal and there were four 2°n°%v under
its four legs, the 2°n°%v are o> 1v.! Our NBOIN qualifies this rule.
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The 71wn is discussing a case where the animal is standing still; it is not moving,
for if it were moving, it constantly picks up one foot and is supported by the
other three feet -
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And the 2°n°%v under these three feet are 8»W, since the animal cannot stand on
two feet.

Summary
If the animal would be walking the 2°n°2v would be Rnv. The animal is standing still.

Thinking it over
Can one disagree with mpoIn and maintain that even na?m»1 they are P1w??

!'See (Overview to) previous "1 "7 Mmoo, The animal can stand on three feet, so regarding each foot, we say that
it is not supporting the 27 (it is merely ¥0n), therefore they are all 217 (see *19n 71"7 "W).

2 Presumably @' would maintain that they are M0 even in this case (it is no different than a 7vn).

3 Bach of these three feet are necessary to support the (772 and the) 27; it is the same as by a mvn.

4 See X"av7 WM.
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